Front Riggings - Footrest and Hardware (FLPFP and
FLPFP2)




Front Riggings - Footrest and Hardware (FLPFP and

FLPFP2)

Quantity Per

Iltem

Number Part Number | Description Package | Assembly

1 1184073 Footplate, Small, Black (10") 1 1
1 1184074 Footplate, Large, Black (12" 1 1
2 See Chart #2. Front Rigging Tubes - Right 1 1
3 See Chart #3. Front Rigging Tubes - Left 1 1
4 1184114 Kit, Hardware, Flip Up Footplate 1 1
6 Sleeve, Spacer, Footrest 1 1
7 Bracket, Flip Up, Footrest 1 2
8 Sleeve, Footrest Bracket 1 2
9 Clamp, Footrest, Flip Up 1 1
10 NLA - Screw, Socket Head (M6 x 1 x 16mm) 1 4
11 Screw, Socket Flat Head (1/4-28 x 3/4") 1 4
12 NLA - Washer, Steel (1/4 x 1/2 x 3/64") 1 4
13 Locknut (1/4-28) 1 4
5 1184115 Kit, Hardware, Flip Up Footplate w/ Spacers 1 1
6 Sleeve, Spacer, Footrest 1 1
7 Bracket, Flip Up, Footrest 1 2
8 Sleeve, Footrest Bracket 1 2
9 Clamp, Footrest, Flip Up 1 1
10 NLA - Screw, Socket Head (M6 x 1 x 16mm) 1 4
11 Screw, Socket Flat Head (1/4-28 x 3/4") 1 4
12 NLA - Washer, Steel (1/4 x 1/2 x 3/64") 1 4
13 NLA - Screw, Socket Head, Cap (1/4-28 x 3/4") 1 4
14 Spacer (16/64 x 3/4 x 2") 1 4

NOTE: A -Kitincludes items 6 - 13.
B - Kit includes items 6 - 14.

#2. Front Rigging Tubes - Right

Chair Width Part Number
14" Wide 1184097-NLA
15" Wide 1184099-NLA
16" Wide 1184101-NLA
17" Wide 1184103-NLA
18" Wide 1184105-NLA

#3. Front Rigging Tubes - Left

Chair Width Part Number
14" Wide 1184098-NLA
15" Wide 1184100-NLA

16" Wide

1184102-NLA




Front Riggings - Footrest and Hardware (FLPFP and
FLPFP2)
#3. Front Rigging Tubes - Left

Chair Width Part Number

17" Wide 1184104-NLA

18" Wide 1184106-NLA




